
Addition Problems 

• A cinema was showing the latest Disney film on Saturday. 
They sold 257 child tickets and 178 adult tickets. 
What was the total number of tickets they sold? 

 
• Mr. and Mrs. Drew sold their house for £180 500. 

They sold some kitchen appliances, curtains and carpets for £2 750. 
What was the total amount of money they made? 

 
• A holiday in Patagonia costs £2 199 for 13 days.  

You can go on a tour to the Iguazu Falls for £369. 
What would the holiday cost if you went on the tour? 

 
• The flight to Jamaica costs £564.  

If you stay at Jake’s on Treasure Beach it costs £72 a night.  
I want to go for a week. 
How much would it cost? 

 
• A concert hall can seat 968 people in the stalls and 1 347 in the rest of the seating areas. 

What is the total number of seats? 
 

• Dad says he’s got £2 787 in his bank account and £9 678 in his post office account.  
How much has he saved altogether?  
 

• Four children ran in the 4 x 100m relay.  
Their individual times were: 
20.03 seconds, 19.4 seconds, 21.45 seconds and 22 seconds. 
How long did it take them in total? 

 
• In three football games the attendances were:  

45 476        75 538          8 506 
What was the total number of people who watched the three matches? 

 
• John thinks of a number. He says, “If I subtract 1.4 from it, I get 2.9.” 

What is John’s number? 
 

• On the first day of a 3 day journey, Fred has ridden 87km on his bike.  
He then rides another 24.7km on the second day and another 45.34km on the final day. How far 
has he ridden altogether?  
 

• A baker has a bag of flour weighing 1.67kg.  
He pours another 30g into the bag.  
How heavy is it now? 

 
• Gemma has a jug containing 1.342 litres of water.  

She pours another 70ml into it.  
How much is in the jug now? 
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